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Il Semester 3 Years LL.B. / VI Semester 5 Years B.A. LL.B./B.B.A. LL.B.
Examination, June/July 2017
PROPERTY LAW (Oid Batch)

Duration : 3 Hours Max. Marks : 100

Instructions: 1. Answer Q. No. 9 and any five of the remaining questions.

2. Q. No. 9 carries 20 marks and the remaining questions
carry 16 marks each.

. Answers should be written either in English or Kannada
only
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. Define immovable property. What property can be transferred ? Marks :
%méosaa‘i TN,  oInT : T30 0BORLTIT ?

. Who is an ostensible owner ? When a transfer from an ostensible
owner is protected against the real owner ?
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. Whatis lis pendens ? Mention the conditions necessary before
this plea can be raised.
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. What is mortgage ? Describe in brief different kinds of mortgages. Marks :
SBINTSTEE? G TSR LEIRI P odZN $[ORD.

. Define sale. Explain the rights and liabilities of seller before and
after completion of sale. Marks :
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Q. No. 6. Explain the rights and duties of a Trustee. Marks : 16
TYROCD &:Jﬁ% ST ﬁra‘gsﬁe}a{;{ QTORD.

Q. No. 7. State the distinction between the following. Marks : 16
NSNS :’gaazs:a’ﬁejsi BePO.
(a) Vested interest and contingent interest.
B LIR T STV TR
(b) Apportionment by time and apportionment by estate.
TGOS BoWE TN B HHOOS Bowk.

Q. No. 8. Write short notes on any two of the following. Marks : 8x2=16
NS CIRYTREER DCER 3003 ©PO TS WICWO.

(a) Fraudulent transfer.
Soe330 SreFEes.

(b) Transfer of property by exchange.
DIDHT LB Gy [rRFDE.

(c) Public Trust.
TOTFUIE TR

Q. No. 9. Solve any two of the following problems. Marks : 10x2=20
NS NP Tomte B #aﬂo:fgr{#ag TOTORD.

(a) ‘A’ has shares in ‘B’, a profitable company and also shares
in ‘C’, a company in difficulties. A gifts all shares to Y. Y
accepts shares in ‘B’ company but refuses to accept the
shares in ‘C’ company. Decide.
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(b) ‘A’ transfers to B an estate to which ‘C’ is entitled and as

part of the same transaction gives ‘C’ a coal mine. ‘C’ takes
possession of mine. Decide the validity of transfer.
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A sells his house to B with a condition that B cannot transfer
his house to any one except ‘C'. Is this condition valid ?
Give reasons.
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